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PSYCHOLOGY

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. The act in which people help others without any personal interest, motive, reason is
called :
(1) Altruism (2) Nurturance
(3)  Prosocial Behaviour (4) Social Obligation

2. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Mean level of fluid intelligence (gf) is higher in young adults than older
adults.

Reason (R) : Crystallized intelligence increases throughout life span.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true; but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

3.  The multiple correlation ranges between :
(1) —0.50 to +0.50
(2) -—1.00 to +1.00
(3) Zero to 1.00

(4) There is a fixed range for bivariate correlation, but not for multiple correlation

st (11 TR
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4.  Match List - I with List - II and select the correct answer by choosing from the code given

below :
List - I List - II
(Concept) (Explanation)
(a) Viewer - centered representation (i)  The individual stores a representation of
the object, independent of its appearance
(b)  Structuralist view of perception (i) The individual builds a cognitive
understanding of the object
(c) Object - centered representation (i) The individual stores the way, the object
looks to him or her
(d) Constructivist view of perception (iv) Simple sensations constitute the building
blocks of perceived form
Code :
@@ (b) (o) (d)
@O @ 3§ W)
(2) @) @Gv) @ @)
G) @ @O @v) ()
4) (@v) @) @@ @

5.  According to Gibson’s theory of perception :

1 We directl erceive the environment. We do not need the aid of complex thought
y P P &
processes.

(2) We do not directly perceive the environment. We need the aid of complex thought
processes.

(3) We perceive the environment using our intelligence.

(4) We do not connect what we perceive, to what we have stored in our mind.

6.  According to Bandura, which of the following is the correct sequence of processes involved
in observation learning ?
(1) Attention — Retention — Cognitive Rehearsal — Corrective Action
(2) Attention — Cognitive Rehearsal — Corrective Action — Retention
(8) Attention — Corrective Action — Cognitive Rehearsal — Retention
(4) Corrective Action — Attention — Cognitive Rehearsal — Retention
s T ;




4. G- 1H G - [1 & T9 Gafea Fwifee 3R FAfafed Fe 1 7600 w1 g8 9@ S 1 =9
RIS

el - 1 e - 11

(a) TRR-hi=a FfaTaE () Al aeg S foad @ 39 39 9 @
TH 90 1 SO T B

(b)  UHRITSRTUT T HLIATEE! GIeehlvl (i) =afer ferdt or%q sl SRR A 1 i
HLA T

(c) og-ohf=a gfafafua (i) SR o] S fo@dl © SR oF GUR
HA T

(d) THENHIOT HT TEAHS gfeahi (iv) WAfeTd STehR HIEROl HaeAsii ¥ o1 gl
g

< :

@ (b) (9 (d)

® @ @) @) (i)

(2) @) @Gv) @) (i)

®) @ @ @Gv) (i)

4) (v) @@ @ @

5. i & gl fagia o ST7ar :
(1) T SIATERT 1 YATd: STI9E Fd € | o6 sifedt fead Ufshan o 7eg i strereehal 8 ardt § |

(2) TH JCHETA: ITATERl I FASTRIO & hid ¢ | TH Siiea fo=a Uikl o AGg i STevaehal
ke

(3) BH Thdl gf§ T TN I G SATAER0T BT TR0 i € |
(4) B S 9 ORISR H ThiAd foRdm goT €, 389 ST0HT Toaafieni il T8l Sired © |

6. SgU & ITHR, fdteror iferm # srmi ufshensti 1 W& 7 ® -
(1) &M — JTER — S a2 — GURHS hRaw

(2) EAM — FAEHE A — GURS hRAE — ATAERo
(3) M — GURIHE HNAE — HAHHS JAAH — Ffasmor
(4)

4)  GUNHS HRAE — S — HAECHE o9 — Jiqemo

s (1T ;



7.  Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Lewin asserted that avoidance -avoidance conflicts are comparatively more
stable

Reason (R) : Opposing forces tend to remain in state of equilibrium.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

8.  Match List - I with List - IT and select the correct answer by choosing from the code given
below :

List - I List - II
(Concept) (Description)
(a) Intrinsic motivation (i)  “I am really not feeling too good today.
I may not be able to perform well”.
(b) Achievement motivation (i) “Ilove to drive very fast, no matter what
happens”.
(c) Self - handicapping (iii) “For me, accomplishing difficult tasks

and meeting high standards of excellence
is the top most priority”.

(d) Sensation - seeking (iv) “I go for swimming everyday. I just love
it. I take out time from my tight study
schedule”.

Code

@ (b) () (d)

1 @O @ @) (@iv)

2 @ @ @Gv) @)

(3 G@v) @) @O @

(4 @) @v) @ @

9. Identity status of individuals who are exploring alternatives in an effort to find values and
goals to guide their life is called :

(1) Identity Diffusion (2) Identity Foreclosure
(3) Moratorium (4) Identity Confusion
s T ;
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10. Sex chromosome anomaly (XXY) results into the development of :
(1) Klinefelter's Syndrome (2) Down Syndrome
(8) Turner’s Syndrome (4) Phenylketonuria
11. Which of the following is associated with memory for emotionally charged events ?
(a) Thalamus (b) Hypothalamus (c) Amygdala (d) Temporal lobe
Code :
(1) (a) and (b) only (2) (c) only (3) (b)and (d) only (4) (d) only
12. “Development is the result of Individual’s active participation in the development process in
interaction with important environmental influences”. This is the assumption of which of
the following approaches ?
(1) Maturational/Biological (2) Psychodynamic
(3) Behavioural (4) Cognitive
13. A person, who reports that he oftenly feels above his physical body. It is an example of :
(1) Derealization (2) Depersonalization
(3) Delusion (4) Identity Disorientation
14. Humanistic theories of personality are characterised as :
(a) Having optimistic ideas about human nature
(b) Emphasize personal responsibility
(c) Focus on present than on past
(d) Believe that fate is an important determinant of human behaviour
Code :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
15. The following statements represent the work of Noam Chomsky, choose the correct one
from the code given below :
(a) He called himself a Cartesian linguistic
(b) He analyzed syntax
(c) He wrote about transformational grammar
(d) He developed an artificial language called “Yerkish’
Code :
(1) , (b) and (c (@), (byand (d) (3) (b),(c)and (d) (4) (a), (c) and (d)
N7 \II\I \I\IHIIHHI\IIIHII ;
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16. Which of the following is the evidence that REM sleep specifically enhances consolidation ?
(a) REM increases after learning
(b) REM deprivation interferes with learning
(c) Performance improves following REM sleep
Code :
(1) (a)and (b) only (2) (a) and (c) only (3) (b)and (c) only (4) (a), (b) and (c)
17. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below.
Assertion (A) : Managers make judgements about employee’s dispositions in various
situations.
Reason (R) : Inferences are drawn on the basis of observations.
Code
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
18. Arrange the following correlation coefficients in descending order in terms of their strength
of relationship, as defined by common variance :
(1) -0.8 0.7 —0.5 0.4
(2) 0.7 04 -05 -0.8
(3) 0.4 -0.5 0.7 —-0.8
4) -038 -0.5 04 0.7
19. A mother is telling her child to eat vegetables before getting dessert. It is an example of :
(1) Reward - Contrast Principle (2) Delay Conditioning
Premack Principle (4) Crespi Effect
N7 \II\II“IN NIRRT .
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20. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :
Assertion (A) : Teacher’s motivating style determines student’s motivation for reading
Reason (R) : To enhance student’s interest in reading, teacher may offer a reward for
reading along with helpful feedback.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
21. The levels of processing proposed by Craik and Tulving follow the specific sequence in
progressive order of depth ; choose the correct.
(1) Acoustic — Semantic — Physical
(2) Physical - Acoustic — Semantic
(3) Semantic — Physical — Acoustic
(4) Acoustic = Physical — Semantic
22. DSM - IIl is considered qualitatively different and superior to its predecessors, because :
(a) It is multiaxial
(b) It deleted misnomor words
(c) Itintroduced coding system
(d) It used experimental data
Code
(1) (a), (b) and (c) only (2) (a), (c) and (d) only
(3) (b)) and (d) only (4) (@), (), (©) and (d)
23. According to Jensen what percent (%) of variance in intelligence is explained by genetic
factors :
(1) 20 to 30% (2) 55 to 65% (3) 80 to 90% (4) 40 to 50%
s T 3
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24. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Westerners tend to focus mostly on the figure when viewing a scene and
much less on the ground whereas East Asians pay greater attention to the
overall context.

Reason (R) : Culture affects the way we direct our attention to notice or ignore things
around us.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

25. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Autoshaping involves S - S learning.

Reason (R) : Some behaviours are innate responses to a stimulus and because of temporal
contiguity between them, they acquire stimulus related properties.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

26. Emotions can be characterised as :

(a) Giving rise to affective experiences

(b) Stimulating generation of cognitive explanations

(c) Triggering a variety of internal neurobiological changes

(d) Always eliciting rewarding behaviour

Code :

(1) (a), (b) and (©) (2) (@) (9 and (d)

(3)  (b), (c) and (d) 4) (@), (b), () and (d)

st (1T 1
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27. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :
Assertion (A) : Every cigarette packet has a verbal and pictorial warning about negative
consequences of smoking.
Reason (R) : Inconsistent cognitions have the motivational properties.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
28. When students study and practice hard with interest and enjoyment, it is called :
(1) Emotional engagement (2) Cognitive engagement
(3) Behavioral engagement (4) Healthy adjustment
29. If the teacher presents the extrinsic motivator in a controlled way, then
(1) It will enhance competence of students
(2) It will interfere with autonomy of students
(3) It will enhance their overall learning
(4) It will enhance the autonomy of students
30. According to the Connectionist view, memories are :
(1) Abstract concepts (2) Knowledge structures
(3) Interconnections among neurons (4) Schemas
31. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :
Assertion (A) : The dynamic process of parent - child interaction during Phallic stage leads
to the solidification of Ego.
Reason (R) : Child’s successful resolution of Oedipus Complex leads to appropriate
gender role identification.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R ) is false.
(4) (A) is false, but (R) is true.
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27.

28.
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32. A patient in Mental Hospital somehow procured a needle and thread, and while sleeping,
she tried to stitch her lips together, so that someone does not pour poison in her mouth when
asleep. Most probably she suffers from :

(1) Bipolar Disorder (2) Hebephrenic Schizophrenia
(3)  Delusional Disorder (4) Borderline Personality Disorder

33. John, the chess master selects his next move by considering the moves that it would threaten
the opponent’s queen whilst his opponent, a chess playing computer, selects its next move by
considering all possible moves John is using whilst the computer is using
(1) Algorithm ; heuristic (2) Prototype ; mental set
(3) Mental set ; prototype (4) Heuristic ; algorithm

34. Today social psychology studies :

(a) Social cognition

(b)  Ethnic Diversity

(c)  Multiculturalism

Code :

(1) @and() (2 @and(© () Mand(© (@) (a) (b)and )

35. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : People perform in accordance to the social positions they hold.
Reason (R) : People select relevant information from tremendous amount of social
information.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
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36.

37.

38.

39.

40.

The sequence of different dimensions of Job Characteristics Model are :

(1 Skill variety, task significance, autonomy, task identity, feedback

)
(2)  Skill variety, task identity, task significance, autonomy, feedback
(3) Task identity, task significance, autonomy, skill variety, feedback
(4) Autonomy, task identity, skill variety, task significance, feedback

Fill in the blank by selecting appropriate alternative.

Harlow’s classic studies with baby monkeys and wire or cloth artificial mothers have

demonstrated the importance of in the early development.
(1) Regular feeding (2) Classical conditioning
(3) Freedom to explore (4) Physical contact

A person with Schizophrenia was found to repeat whatever words the psychiatric social
worker was speaking. This behaviour can be labelled as :

(1) Echopraxia (2) Neologism (3) Word Salading (4) Echolalia

Which of the following are not Factor Analytically derived personality inventories ?

a) 16 PF

(a)

(b) Comrey Personality Scales
(c) Jenkins Activity Survey
(

d) Edwards Personal Preference Schedule

Code :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only

In which parts of brain the feeling of hunger and full are felt ?

(1) Hypothalamus ; Cerebral Cortex

(2) Lateral hypothalamus ; Ventromedial hypothalamus
(3) Lateral hypothalamus ; Cerebral Cortex

(4) Cerebral Cortex ; Ventromedial hypothalamus
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41. As per Goleman “Motivating Oneself” component of emotional intelligence includes :
(a) Marshalling emotions in the service of goal
(b) Delaying gratification and stifling impulsiveness
(c) Being able to get into ‘flow state’
(d) Monitoring feelings from moment to moment
Code :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
42. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :
Assertion (A) : In Time Series Design, auto correlation is a routine feature.
Reason (R) : Autocorrelation is efficiently handled by statistical method ARIMA
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
43. An example of Feature Analysis is :
(1) Phonics (2) Words
(3) Context of words (4) Meaning of words
44. Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :
Assertion (A) : According to Dollard and Miller, observational learning will occur only if
organism’s overt behaviour is followed by reinforcement.
Reason (R) : Copying behaviour involves guiding of one person’s behaviour by another
person.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) ) is false, but (R) is true.
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45.

46.

47.

48.

Which of the following is the final destination for much of the brain’s information about
emotion, before action is taken ?

(1) Amygdale (2) Anterior Cingulated Cortex
(3) Pre - frontal cortex (4) Hypothalamus

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : You can remember vividly what you wore on your first date.
Reason (R) : Memories of emotionally significant events cannot be accurate at all.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Cattell incorporated factors, Q;, Q,, Qs, and Q, in 16 PF
Reason (R) : Some factors appeared only in L - data, not in Q - data
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Naturalistic decision making involves decisions as they occur in every day
life

Reason (R) : The decisions required in many situations often have serious ramifications
for those who make decisions.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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49.

50.

51.

52.

Match List - I with List - II and select the correct answer by choosing from the code given
below :

List - I List - II
(Phenomenon) (Explanation)
(a) Over - extension (i) The use of single word to represent whole phrase or
sentence
(b) Under - extension (i) The tendency to apply a word to more objects or actions

than it actually represents

(c) Holophrastic speech (iii) Speech marked by reliance on nouns and verbs, while
omitting other parts of speech including articles and
propositions

(d) Telegraphic speech  (iv) The tendency to apply a word to fewer objects or actions
than it actually represents

Code :

@@ (b) () (d)
® @ @) @ @)
() @) @Gv) @ ()
G @ @Gv) @) ()
@ @) @) @ G

Which part of Central Nervous System controls much of the Endocrine System by regulating
the Pituitary Gland ?

(1) Amygdala (2) Hypothalamus (3) Hippocampus (4) Medulla

Cognitive structures that represent an organised collection of knowledge about people, events
and concepts are called :

(1) Images (2) Schemas (3) Social influence (4) Disposition

Which is not the part of Equity Theory ?
(1) Over payment (2) Under payment
(3) Linear payment (4) Equitable payment
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Match List - I with List - II and select the correct answer by choosing from the code given

List - IT
(Behaviour)
High task and high relationship
High task and low relationship
Low relationship and low task

High relationship and low task

Match List - I with List - II and select the correct answer by choosing from the code given

List - II
(Description)
Ability to cope with the problems of day-to-day life

Ability to achieve one’s goals of life across given
cultural contexts, capitalizing on strengths and
correcting weaknesses to adapt with the
environment

Ability to cope with novel problems and situations

Ability to understand the outcomes of mind’s
reproductive system

How many ‘three way interactions’ can be studied in a 4 X3 X3 factorial design ?

53.
below :
List - I
(Dimensions)
(a) Delegating
(b) Participating
(c)  Selling
(d) Telling
Code :
@ ®) (© (@
O 6 @ G @)
@ @ @ @) 0
G) G @) @ o
@) v @) @ 0
54.
below :
List - I
(Concept)
(a) Successful Intelligence
(b)  Practical Intelligence
(c) Mating Intelligence
(d) Creative Intelligence
Code :
@ ®) (© (@
O 6 @ G W)
@ @ O G G
@) G @) @ o
@) v @ 0 @
55.
(1) 1only (2)
s T

4 only

(3) 12 only (4) 3only
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56. Ina verbal memory experiment, the two independent variables, ‘meaningfulness of material’
and ‘retention interval’ were employed, each varied at three levels. The number of words
correctly recalled was the dependent variable. The sum of squares due to meaningfulness of
material is 270. The Mean square for the meaningfulness of material would be :

(1) 30.0 (2) 675 (3) 90.0 (4) 135.0

57. In ‘Signal Detection Theory’, which of the following determinants are assumed ?
(a) Observer’s sensitivity (b) Sensory threshold
(c) Response bias (d) Decision bias
Code :

(1) (a) only (2) (a) and (c) only
(3) (@), (c) and (d) only (4) (b) and (c) only

58. According to Tolman, which among the following are the “Individual Differences” variables

which interact with independent variables to produce behaviour :

(a) Age (b) Heredity

(c) Previous Training (d) Special Endocrine, Drug or Vitamin conditions
Code :

(1) (a) and (c) only (2) (a), (c) and (d) only

(3)  (b), (c) and (d) only 4) (), (b), (c) and (d)

59. Which of the following theories represent the mechanistic metaphor of motivation ?
(a) Psychoanalytic (b) Ethological
(c)  Sociobiological (d) Expectancy - value
Code :

(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (@), (c) and () only (4) (@), (), © and (d)

60. According to Meichenbaum (1977), the steps involved in cognitive behaviour modification
are :

(1) Covert self instruction — overt external guidance — overt self guidance — cognitive
modeling — faded overt self-guidance

(2) Cognitive modeling — faded overt self - guidance — overt external guidance — Covert
self instruction — overt self-guidance

(38) Covert self instruction — faded overt self - guidance — overt external guidance —
Cognitive modeling — overt self - guidance

(4) Cognitive modeling — overt external guidance — overt self - guidance — faded overt
self - guidance — Covert self-instruction
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56.

57.

58.

59.

60.

aifaeh Tgfa 9 § <1 Tadd =R AT s AR’ @R ¢ gfqemor st st TR foRe T, s
T Y O &R R -1 9| 9@ TRoT T U 9] ohi 9 Toas o) o7 | 9 St |l o
HROT S BT ART 270 € | FTA ot Trefehdl T LA ot 941 81 2

(1) 30.0 (2) 67.5 (3) 90.0 (4) 135.0

Goha tfvee fagia ¥ frafated o 9 ford sTauRe o1 STIHM e S € 2

(a) & w1 HASTLCIA (b) Eerel <Eedl

() VI YAt (d) i gaie

<< :

(1) e (a) (2) o (a) 3 (c)
(3) A (a), (c) ¥R (d) (4) = (b) ¥R (o)

ST % STTIR FEER Icdel i o ot Tods =) & WY STfhal hiqare  SAfte Tk 3ia’ =) A
g%?

(a) g (b) AT

(c) ga-gfrem d) oo wehre, ity = faerfi =t feufa
W‘:

(1) e (a) 3R () (2) Fd (a), () ¥R (d)
(3) e (b), (c) ¥R (d) (4)  (a), (b), (c) 3 (d)
fr=fafea & 9 Si9-1 fagia AU & T SIhciar o 2ides © 2
(a) HAfTATUMH (b) AR A

(c) EHIS U (d) Heanem

<<

(1) & (a), (b) 3 (o) (2) e (b), (c) 3N (d)
(3) A (a), (c) 3R (d) 4) (), (), () 3R (d)

HIEHASY (1977) % STTHR HAFCHS HER Aol H Hinfed & ¥

(1) 39 W-HI¥ — Fohe, dRI AFIGIH — Tohe, T-ANGIH — HIMHSE FITEI0 — Hiehl
Tohe T-ARTSYH

(2) EIEHS YRTEIU — FRl Tehe W-ARIGUH — Tehe, oT@l ARG — 3Tehe W-3TT —
The, T-ANTGYH

(3) 3TYhe W-3TII — HIhl Yohe T-HFIGEN - ohe, oI HFIGIH — HIMIcHE JFa&do —
ehe, T-ANIEIH

(4) HIFAHF YTEIU — Yehe, dM>I ARIGYH — Yohe, T-HARIGYH — Hihl Yehe T&-HARIGeH —
YRS T-ANSIA
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61. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Concept) (Description)

(a) Interactive Images (i) Visualizing walking around an area with distinctive
landmarks that you know well and link them

(b) Acronyms (i) “oneis a bun” “Two is a shoe”

(c) Method of Loci (iii) If you have to remember to buy socks, apples and a pair of
scissors, you might imagine cutting a socks that has an
apple stuffed in it with a pair of scissors

(d) Pegword System (iv) Devising a word or expression in which each of its letters
stands for a certain other word or concept

Code :

@ () (9 (d)

® @O @ @) (@)

(2) @) @) @O @)

() @ @) @) @

4 (v) @) @ @

62. Which of the following concept, according to which each mental event has a unique time of
ascendency, the plan for which is contained in the organism’s gene ?

(1) Epigenesis (2) Maturation (3) Genotype (4) Phenotype

63. Rollo May’s description of personality development can be explained in which of following
sequences :
(1) Innocence — Dependence — Rebellion — Ordinary Consciousness of self — Creative
Consciousness of self

(2) Dependence — Innocence — Rebellion — Ordinary Consciousness of self — Creative
Consciousness of self

(3) Innocence — Rebellion — Dependence — Ordinary Consciousness of self — Creative
Consciousness of self

(4) Dependence — Innocence — Rebellion — Creative Consciousness of Self — Ordinary
Consciousness of self
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e
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1) @ @) (P ()
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(4) (v) (D) (@) ()
62. fAfafed & 9 ford TI@d & TR U HHAeH BT o STRY I s aire 999 Bl §
et A Sfte o S # sfdfae gt § 2
(1) 9gesHEA (2) aRgeera (3) SHYEY (4) THEY
63. el § o TAgIaR Afade T i = o ffaftad 5 § foeg s o e fear s wear
8?2
(1) @ — fRa - fogie - @ & SR =@ — @ S GeHEs oa
2) F¥RaT - e — fI5E — T S WYERY a1 — T S SIS <]
(3) o — fage — fMRar — W FF ERe AT — T Dl GRS =q
(4) FRaT - e — foBe — @ & GeAes =l — T Hl QYR <@l
oon7 [ HTNEAREEAI
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64. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Test) (Author)
(a) Personal Orientation Inventory (i) Rogers
(b) Q-sort (i) Maslow
(c) House - Tree - Person Test (i) R.B. Cattell
(d) Objective Analytic Tests Battery (iv) Buck
Code :
@ ) © @
O 6 @ G W)
@ @ @6 @) ()
@) G @) @ o
@) (v @ O @
65. Because of the lightning speed, computers can retrieve and manipulate stored data faster
than people, but the human brain beats the computer hands down when it comes to :
(1) Using heuristics (2) Following algorithms
(38)  Serial processing (4) Simultaneous processing
66. Which of the following is the sleep disorder in which the person is physically active during
REM sleep ?
(1) Narcolepsy (2) Cataplexy
(3) Somnambolism (4) REM Sleep Behaviour Disorder
67. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Technique) (Description)
(@) CT (i)  Detects increase in oxygen levels during neural activity
(b) MRI (i) Measures variations in hydrogen concentration in brain tissue
() PET (iii) Forms 3 - D image of brain by combining X - rays of cross sections
of brain
(d) fMRI (iv) Image produced by emission from injected substances that have
been made radioactive
Code :
@ ) © @
W) (v 6 @@ @
@ G @ @) 0
@) G @ @@ 6
@) @ 6 ) (@
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65.

66.

67.

Tl - [ 1 Gl - [1 o 99 gafe wifve $iR fFAfafed Fe 1 7b8m wd g0 9@ S 61 =9

HifT
gt - 1 et - 11
(witegroT) (vEh)
(a) Safaes feafa-fraRo gemect () o
(b) F-ER (i) Fe
(c) TRE-I-TEA = (iii) ST, hea
(d) oRTS faeeravmTs Tiem st (iv) 9&
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@ (b) (9 (d)
1 @ @) (@) (iv)
2) @) @) (@v) (i)
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4) (v) (@) @) ()

Do
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frefafea § @ frg fg-fosfa ¥ =afe smz.wm.fer & <E aiifRe &9 9 wfea war e ?
(1)  rehieret (2) eI
(@) g ¥ = (4) ARz, =1 =erR fasfd
Tl - [ 61 Gt - 11 & 91 gAfad &g iR fAfafad &e &1 b0 & g0 @@ ST a1 9o
HifT

e - 1 et - 11

(qeIRT ) (=TT )
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fmtor st T
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e
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(2) () (@) @v) @
3) (v) (@) @) ()
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68. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List -1 List - II
(Phenomenon) (Explanation)
(a) Just world phenomenon (i)  Tendency to have first agreed to a small request
and to comply with a larger request
(b) Foot - in - door phenomenon (i) A situation where conflicting parties are being
caught for protecting self interest
(c) Social trap (iii) The phenomenon where repeatedly facing
novel stimuli increases their liking
(d) Mere exposure phenomenon (iv) The belief that world is just and the people get
what they deserve to get and vice - versa
Code :
@@ (b) () (d)
® @ @ @ G)
() @ @) @) @
G) @) @@ @ )
@4 (v @& @ ()
69. Organizational behaviour focusses on :
(a) How to improve productivity
(b) Reduce absenteeism and turnover
(c) Increase employees job satisfaction and commitment
(d) Increase decision making ability
Code :
O @b @ 6000 6 @00 @ @
70. Fluid general intelligence (gf) includes the abilities :
(a) to perceive relationship among stimulus patterns
(b) to comprehend implications
(c) to draw inferences from relationships
(d) to acquire quantitative knowledge
Code :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
s T ’




68. eIt - 1 h! Gt - I1 & |19 GAferd HifSe qen == fT 7 e w1 =T id gC E@r ST ST

69.

70.

et -1 et - 11
(9R¥) (=TE)
(a) T ITE A () T BT AT AFA IR R T2 10y wrA

%t ggfd |
(i) U feafq Stef forieft wafi &1 e1om-o1a i =it Tam

i U TSl T & |

(b) He-3T-SR TRH

(c) Hrm ¢g (i) HN YhH &1 HMGR T LA o Tl 3T o

STeh! HS STed! ¢ |

(d) HR-TFHESRE ThH (iv) Tm fave for fava =@ © iR @l &1 =@
Toreran & foraes o urt € qen faaima:
e
@@ () (9 (d
1 @ @) () ()
2 (@) @) @) @
3) () @) (@) ()
4) (v) (@) () (i)

GiTeATHs =aeRr | frfafed § 9 fh 51 fean s 72
(a) ScaEERA H HY GuR fora Smg

(b) STufefd iR FRER § HH FHT

(

(

¢) HHAR &I & G oIk gfqegd agm
d) o o 6t ArFar ser
<< :
1) (), (b), (d) ) (®) (o) (d) 3) (), (b), (9 4) (@), (9 (d)
WIS E G (SH.UW.) | HH-TF GHarel 1 gua ¥ ?
(a) e SUTEATS | Hey Sl THSAA
(b) TSN hl HHFA
(c) Hadi g fT=hy e
(d) UM FE S KT
<
(1) % (a) 3T (b) () F () R (d)
(3) FFA (a), (b) ¥ (c) (4)  FFA (b), () W (d)
oot [ R RUAARI .




71.

72.

73.

74.

75.

Instructions for Q. 71 to 75
Read the following paragraph and answer the five questions that follow :

A personality psychologist wanted to factor analyze the important personality traits. He
selected personality scales of 78 important personality traits, presumed to cover most of the
important characteristics. These scales were administered to a sample of eight hundred and
fifty respondents. The intercorrelations among the 78 traits were computed and the 78 X 78
correlation matrix was obtained. Retaining unities in the diagonal spaces of the correlation
matrix, unrotated factors were extracted. Cattell’s scree plot favored fifteen factor solution.
The fifteen factors together condensed 72 percent of variance. The first factor condensed 18
percent variance. The 15 factors were rotated and the inter-factor correlations were examined.
Since some of the inter - factor correlations were substantial, the psychologist decided to
carry out the second order factor analysis

Which one of the following method of factor extraction has been, most likely, employed in
the above study ?

(1) Maximum likelihood (2) Unweighted least square
(3) Principal components method  (4) Principal axis method

What percent of variance would be condensed by the second unrotated factor in the above
study ?

(1) 18 percent (2) Less than 18 percent
(3) More than 18 percent (4) Inadequate data

Cattell’s scree plot has :

(1) Order of eigen value on X - axis and actual eigen value on Y - axis
(2) Order of eigen value on X - axis and the covariance on Y - axis

(3)  Actual eigen value on X - axis and order of eigen value on Y - axis
(4)

4)  Actual eigen value on X - axis and covariance on Y - axis

Out of the following four methods of factor rotation, which method/s has/have, most likely,
been used in the above study ?

(a) Varimax (b) Quartimax (c) Promax (d) Oblimin
Code :

(1) (a) and (b) only (2) (a) and (c) only

(3) (b) and (c) only (4) (c) and (d) only

What percentage of total variance will be explained by the 15 factors after rotation ?

(1) Less than 72 percent (2) 72 percent
(3) More than 72 percent (4) Inadequate data
-00o0-
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73.

74.

75.
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